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$85 for a new pair of basketball shoes. He has $25 in his piggy bank and can
ch week. How many weeks will Ian need to save to earn at least $857
h the solution.

1. Ian needs to save at least
save $12 from his allowance €2

Write and solve an inequality. Grap
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e rink must stay below 50 degrees Fahrenheit. This morning the temperature
N lc(x;fink runs a cooling device that can decrease the temperature by 3.5 degrees
o ke for the temperature to fall below 50 degrees?

2. The temperature in th
was 71 degrees. The 15 ¢
every hour. How many hours will it ta _
Write and solve an inequality. Graph’ the solution.
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3. Zoe and her dad go on a hot air balloon ride over the weekend. In order to ren}ain safe, they cannot
exceed an elevation of 450 feet. If they start at an elevation of 120 feet and rise at a rate of 15 feet per
minute, how many minutes can they continue to rise?
Write and solve an inequality. Graph the solution.
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4. The volleyball team at Meigs raised $350 to buy a new net and some volleyballs. The net costs $180

and each ball costs $17. If the team does not want to exceed the amount of money they raised, how
many volleyballs can they buy? Write and solve an inequality. Graph the solution.
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! 5. Martha has gotten a 79 and a 90 on her two math

1 triple (is worth the same as three
does she need to get on this quiz i
inequality.

L5 T1rW xS+ 285 + Y
” —
44+ % 2 S22

quizzes so far. She also took one test, which counts
quizzes), and got an 85. Martha has another quiz coming up. What
f she wants to average at least an 87? Write and solve an
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find the maximum amount of time he can spend practicing the fiv
working on. He has 60 minutes to practice piano and would
ead of practicing scales. So, Sven sets up the following

n each scale, and solves it.

6. Explain the Error Sven is trying to
scales of piano music he is supposed to be

‘ like to spend at least 35 minutes playing songs inst ;
inequality, where t is the number of minutes he spends ©
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7. Find the solution set of each inequality below, and then determine which inequalities
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Kew o
yey can serve |

nanages the cafeteria so that
Elsa, the cafeteria manager, has to be careful with her spending and manag

os all of her budgets
best food at the lowest cost. To do this, Elsa keeps good records and analyz
of milk that are typic al of school lunch. The milk supplier charges 5(
L

@ Elsa’s cafeteria has those cute little cartons of §75. What is the maximum number of milk cartons that Elsa can

per carton of milk, in addition to a delivery charge
buy if she has budgeted $500 for milk?
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a. Write and solve an inequality that models this situation
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Students love to put ranch dressing on everything, so Elsa needs to keep plenty in stock. Th.e students eat about
.25 gallons of ranch each day! Elsa started the school year with 130 gallons of ranch dressing. She needs to have at
Mﬁallons left when she reorders to have enough in stock until the new order comes. For how many days will
her ranch dressing supply last before she needs to reorder?

a. Write and solve an inequality that models this situation
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b. Describe in words the quantities that would work in this situation.
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c. Write your answer as an inequality (keep the context in mind). A s ""8
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3. The prices on many of the cafeteri i
P Yy Y ‘39_5 change during the year. Elsa finds that she has ordered veggie burgers

four times and paid @Z8NS720S87IaRAIS90I6h the orders. To sta
12 andise . y within her budget, Elsa n
average order of veggie burgers is not mor 8 eeds to be sure that the
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b. Describe in words the quantities that would work in this situation.
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she can spend $44.20 on

; i feteria; .
4.  Elsa can purchase ready-made pizzas for $14.50 each. If she makes them mfthet;: cafeteria to make the pizzas
gingredients and $6.25 pér pizza on 1a6# For how many pizzas is it cheaper for "
themselves rather than buy them ready-made? 258 % 1t
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¢. Write your answer as an inequality (keep the context in mind). ._?: s or ?

5. Elsais comparing prices between two different suppliers of fresh lettuce. Val's Veggies charges $250 for delivery

s
plus $1.50 per bag of lettuce. Sally’s Salads charges $100 for delivery plus $4.00 per bag of lettuce. How many bag
of lettuce must be purchased for Val’s Veggies to be the cheaper option?
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C. Write your answer as an inequality (keep the context in mind). 5 ? (0 O
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a. Write and solve an inequality that models this situation., S" # 4 34 h o
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b. Describe in words the quantities that would work in this situation,
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c¢. Write your answer as an inequality (keep the context in mind)
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Compound Inequalities

. When two simple inequalities AT€ combined into one statement by the words AND or OR, the resyl,
called a compound inequality.

Translate these phrases into «math language.” Graph the solution.

I All real numbers greater than 2 AND less than 6
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r than or equal to 2 AND less than or eq

O All real numbers greate
p & M

[0 All real numbers less than 2 @reater than 6
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1 All real numbers less than or equal to 2 OR greater than or equal to 6
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. O All numbers between 8 and 16
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[ All numbers between 8 and 16 inclugive
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Write the compound inequality shown by each graph.
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Solve the compound inequality and graph the solutions.

4 < x 4+ 2 N ,
5718 \2exco| «0—® «

-5 < 2x +_33<9

3 453 | L gup?
- Lo
el v 3

PR
2x < 6 0R3x > 12

e S Sl WP, S

[ X3 oR x >4/ 3 Y

.
2+r <12 ORr +5> 19

t heart rate during exercise for a 15 year-old is between 154 and 174 beats per minute
(inclusive) Write a compound inequality to show the heart rates that are within the target range. Graph the

solutions.
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The pH level of a popular shampoo is between 6.0 and 6.5 inclusive. Write a compound inequality to
show the pH levels of this shampoo. Graph the solutions.
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Ms. Bolus’ classroom is ridiculous! It is ess than 60 degrees Fahrenheit @above 80 degrees
Fahrenheit every day. Write a compound inequality to show the temperature in Ms. Bolus’s clissroom

Graph the solutions.
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Homework: pg. 89 (11-23)



